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1.Add together 40p, 70p and
30p.

2.What is the total of 15, 19
and 237

3.Lauren was given some money
for her birthday. Her brother
gave her £2.50, her sister gave
her £1.00 and her grandma
gave her £4.50. How much did

she get in total? P,

4.0mar collects 68 bus tickets
and 34 train tickets. How many
tickets does he have in total?

5. Caroline has 2 bags of apples.
One bag has 13 red apples in
and the other bag has 24
green apples. How many apples
does she have in total?

6.What is the sum of 38, 20 and
872

7. Samir buys three chocolate
bars. A Mars that cost 62p,
Shickers that cost 59 and a
Milky Way that cost 70p. How
much did he spend in total?

8.A teacher gives out 16 pencils
on Monday, 22 on Tuesday
and 29 on Thursday, How
many pencils did she give out
in total?

9. How much is 84p plus 3%p
plus 47p?

10. Three sacks of potatoes were
delivered to a shop. They
weighed 18kg, 35kg, 27kg.
How much did they
weigh in total?




